
W

d

7

5

,
 
k

m

 
1

+

1

2

8

.
0

0

W

d

7

6

,

 

k

m

 

1

+

1

2

8

.

9

1

W

d
7
2
,
 
k
m

 
1
+

0
5
0
.
8
5

W

d

8

0

,

 

k

m

 

0

+

9

7

9

.

3

8

W
d
8
1
, 
k
m

 0
+

9
7
6
.5

3

W

d

8

3

,
 
k

m

 
0

+

9

3

9

.
1

8

W

d
7
4
,
 
k
m

 
1
+

0
8
6
.
4
5

W

d
7
1
,
 
k
m

 
1
+

0
5
0
.
6
0

W

d

7

3

,
 
k
m

 
1

+

0

7

9

.
3

3

W

d

6

9

,
 
k

m

 
1

+

0

1

6

.
3

1

W

d

7

0

,
 
k

m

 
1

+

0

1

6

.
1

7

W

d

6

7

,

 

k

m

 

0

+

9

8

1

.

0

1

W

d

6

8

,
 
k

m

 
0

+

9

8

3

.
8

8

W

d

6

6

,

 

k

m

 

0

+

9

5

5

.

0

4

W

d

6

5

,

 

k

m

 

0

+

9

1

6

.

2

2

S

d

4

4

,

 

k

m

 

0

+

5

7

9

.

1

7

Ø

=

1

0

0

0

m

m

S

d

4

5

,

 

k

m

 

0

+

6

2

0

.

0

5

Ø

=

1

0

0

0

m

m

S

d

4

6

,
 
k
m

 
0

+

6

3

9

.
3

7

Ø

=

1

0

0

0

m

m

S

d

5

0

,
 
k

m

 
0

+

7

4

5

.
0

8

Ø

=

1

0

0

0

m

m

S
d
4
7
,
 
k
m

 
0
+

6
4
9
.
1
1

Ø
=

1
0

0
0
m

m

S

d

4

9

,
 
k

m

 
0

+

7

1

2

.
7

0

Ø

=

1

0

0

0

m

m

S

d

4

8

,

 

k

m

 

0

+

6

8

1

.

4

2

Ø

=

1

0

0

0

m

m

S
d
5
1
,
 
k
m

 
0
+

7
6
6
.
9
1

Ø
=

6
0
0
m

m

S
d
5
2
,
 
k
m

 
0
+

7
9
2
.
4
0

Ø
=

6
0
0

m
m

S

d

5

4

,
 
Ø

=

1

0

0

0

m

m

S

d

5

3

,

 

Ø

=

1

0

0

0

m

m

W

d

8

2

,

 

k

m

 

0

+

9

7

3

.

5

7

P
r
z
e
ł
o
ż
e
n
i
e
 
i
s
t
n
i
e
j
ą
c
e
j
 
n
a
w

i
e
r
z
c
h
n
i

W

d

7

7

Ł

ą

c

z

n

i

k

 

1

Ł
ą

c
z
n

i
k
 
2

Ł

ą

c

z

n

i

k

 

3

Ł

ą

c

z

n

i
k

 
4

Ł

ą

c

z

n

i
k

 
5

l

=

4

6

.

6

3

m

i

=

-

0

.

4

3

%

 

Ø

=

4

0

0

m

m

l
=

4

0

.

8

7

m

i
=

-

0

.

8

9

%

 

Ø

=

4

0

0

m

m

l

=

1

9

.

3

3

m

i

=

-

0

.

9

3

%

 

Ø

=

4

0

0

m

m

l=9.74m

i=-0.71% Ø=300mm

l
=

3

2

.
3

1

m

i
=

-

0

.
6

7

%

 
Ø

=

3

0

0

m

m

l=
3
2
.3

8
m

i=
-0

.7
9
%

 Ø
=

3
0
0
m

m

l
=

3

1

.
2

8

m

i
=

-
0

.
5

6

%

 
Ø

=

3

0

0

m

m

l=12.26m

i=-2.75% Ø=300mm

l=
21.8

3m

i=
-1

.0
7%

 Ø
=300m

m

l=
2
5
.4

9
m

i=
-1

.1
7
%

 Ø
=

3
0
0
m

m

l
=

3

4

.
3

1

m

i
=

1

.
3

1

%

 
Ø

=

3

0

0

m

m

W

d

4

2

,
 
k

m

 
0

+

6

1

2

.
8

9

S

d

5

8

,

 

Ø

=

1

0

0

0

m

m

W
d
4
4
,
 
k
m

 
0
+

6
2
1
.
1
4

W

d

4

6

,
 
k

m

 
0

+

6

5

9

.
8

0

W

d
5
2
,
 
k
m

 
0
+

7
2
3
.
0
4

W

d
5
4
, 
k
m

 0
+

7
2
9
.9

9

W

d
4
7
,
 
k
m

 
0
+

6
6
7
.
8
1

W

d
5
3
,
 
k
m

 
0
+

7
3
0
.
1
4

W

d

4

5

,
 
k

m

 
0

+

6

5

9

.
7

5

W

d

5

0

,
 
k

m

 
0

+

6

7

5

.
6

6

W

d

5

1

,
 
k

m

 
0

+

6

7

5

.
6

9

S
d
3
9
, 
k
m

 0
+

3
8
8
.9

2

Ø
=

1
2
0
0
m

m

S

d

3

7

,

 

k

m

 

0

+

3

3

3

.

6

4

Ø

=

1

2

0

0

m

m

S

d

6

0

,
 
k

m

 
-
0

+

0

5

9

.
5

5

Ø

=

1

0

0

0

m

m

S

d

3

6

,
 
k

m

 
0

+

3

0

6

.
7

1

Ø

=

1

2

0

0

m

m

S
d
3
4
,
 
k
m

 
0
+

2
6
4
.
4
1

Ø
=

1
2
0
0
m

m

S

d

3

3

,

 

k

m

 

0

+

2

5

2

.

2

2

Ø

=

1

2

0

0

m

m

S
d
3
0
,
 
k
m

 
0
+

0
2
5
.
6
1

Ø
=

1
2

0
0
m

m

S
d
3
1
,
 
k
m

 
0
+

1
0
0
.
6
1

Ø
=

1
2
0
0
m

m

S

d

5

9

,

 

Ø

=

1

0

0

0

m

m

S

d

5

8

,

 

Ø

=

1

0

0

0

m

m

W
d
4
8
,
 
k
m

 
0
+

6
8
1
.
3
0

W
d
4
9
,
 
k
m

 
0
+

6
7
5
.
7
7

S

d

3

5

,
 
k

m

 
0

+

2

8

1

.
3

3

Ø

=

1

2

0

0

m

m

S

d

3

8

,
 
k

m

 
0

+

7

1

8

.
6

2

Ø

=

1

2

0

0

m

m

S
d
3
2
,
 
k
m

 
0
+

6
9
9
.
0
9

Ø
=

1
2
0
0
m

m

l
=

4
8
.
3
3
m

i
=

0
.
4
3
%

 
Ø

=
5
0
0
m

m

l
=

4

.

6

1

m

i
=

0

.

3

0

%

 

Ø

=

3

0

0

m

m

+

2

x

Ø

=

3

0

0

m

m

l
=

3

9

.
1

7

m

i
=

-
1

.
0

8

%

 
Ø

=

3

0

0

m

m

l=
2
6
.9

2
m

i=
0
.3

0
%

 Ø
=

5
0
0
m

m

l=25.38m

i=0.30%
 Ø

=500mm

l

=

1

2

.

1

9

m

i

=

0

.

3

0

%

 

Ø

=

5

0

0

m

m

l=76.61m

i=0.30% Ø=500mm

l
=

1

8

.
8

0

m

i
=

0

.
4

0

%

 
Ø

=

5

0

0

m

m

l=6.87m

i=-0.69% Ø=300mm

l=6.74m

i=-0.90% Ø=300mm

l=16.92m

i=0.30% Ø=500mm

l
=

5

0

.
6

8

m

i
=

0

.
3

0

%

 
Ø

=

5

0

0

m

m

1+100

W

d
7
2
,
 
k
m

 
1
+

0
5
0
.
8
5

W

d
7
4
,
 
k
m

 
1
+

0
8
6
.
4
5

W

d
7
1
,
 
k
m

 
1
+

0
5
0
.
6
0

W

d

7

3

,
 
k
m

 
1

+

0

7

9

.
3

3

S

d

5

0

,
 
k

m

 
0

+

7

4

5

.
0

8

Ø

=

1

0

0

0

m

m

S

d

4

9

,
 
k

m

 
0

+

7

1

2

.
7

0

Ø

=

1

0

0

0

m

m

S
d
5
1
,
 
k
m

 
0
+

7
6
6
.
9
1

Ø
=

6
0
0
m

m

W

d

7

9

W

d

7

7

W

d
7
8

D

r
e

n

a

ż

 
f
r
a

n

c

u

s

k

i

l=
3
2
.3

8
m

i=
-0

.7
9
%

 Ø
=

3
0
0
m

m
l
=

3

1

.
2

8

m

i
=

-
0

.
5

6

%

 
Ø

=

3

0

0

m

m

l=
21.8

3m

i=
-1

.0
7%

 Ø
=300m

m

i=
-1

.1
7
%

 Ø
=

3
0
0
m

m


